aylaill spjall jalno a5 pn

Masader Al-Jazeera Trading Co.

83332l yolao

aldl 2o slowo dsyl
el

Yy f © 80O

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-i.com & www.masader-j.com


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

80mm / 45°

aa) & Hhaly 1681 A Caile 3805 e Ao sana
(PCD) .pe) VA 22y o (5 sluiiy 4o 5
daildy 05 e dia g ¥ la el sacliaie Caile )
slat 5 BSP

(VY04 ) Cuns 3 g 1a slal) dalaia

YT aall o glie 3Y 68 dlaiall o) jaY)
Fortyt :all alaal du Il & glall

PTFE 43 Jall alacal dpu )i 5 plall

PTFE :slazll 3 pda

¥y f 0 s0

9@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474

B

&5 lolgoll

i) 4391 3 (pan) (ull) [ aaal)

info@masader-j.com

aataal) ddua git)
A i) dlua gl

uaib.aﬂ |

3) gad)

& www.masader-jcom 1]


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®
el 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

:oldlg W:” bg s

P.,,o.m]ﬂ bg s él-h-d\
12.5K G ) -
= s ) a2 a5l

M\ s

4 Bar a2y 804/4000A Sl il 5ol
(MAWP)

6 Bar B P A 804/4000AHS o lal) dslatg

. C276 4Suw
-55°C M\ 5)a Aayd
Lyl

Cibs 3 g pranal

el 5 a Aa 804/4020A Rl ol o= s

200°€C Lalad) Camlock uld ae

Jddaal) g.‘“duﬂ\ eﬁj\uhbied.bﬁz\maﬂ\ e*““‘ Jl.u.bﬁmaﬂ\.bjﬁ &j..
- 2l88) gall

BS EN14433

BS EN14432

Yy f 080

© KSAP.0.Box 37010 Riyadh 17242 . 8001240474 &9 info@masader-jcom & www.masader-j.com 2


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

G

9@ KSAP.0.Box 37010 Riyadh 17242

®
aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

syl

geee
:E x%
gi2

. 8001240474

¥y f 080

10 | 8261200 | 3'45°HIGHLIFT FOOTVALVE | 316STST |
9 | 368/8047 | 3'BSPOFFSETQUTLET FLANGE | 316STST | 1
8 | 368/70008 3"BUTTERFLY VALVE 36STST |
7 | 10303PS1 | 3'BSPBLANK CAPWITHCHAIN | 316STST | 1
6 | 5113012 M16 SPRING WASHER 304STST | 4
5 5113011 M16 PLAIN WASHER IN SS 304 STST 4
- 5112003 M16 FULL NUT 304 STST 4
3 5111-198 M16 X 105mm HEX BOLT 304 STST -
2 | 5005490 PTFE / CNAF GASKET PTFE/CNAF | 1
1| 5005-049 PTFE CNAF GASKET PTFE/CNAF | 1
Index| Part Number Description Material | Quantity
Assembly BOM
4 info@masader-jcom & www.masader-j.com 3


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®
doylill pjall jalao &4 pis
Masader Al-Jazeera Trading Co. m

£

::'}.?>U

L 4 *®

OO ety

*

¥y f 080

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-j.com & www.masader-j.com 4


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®
el 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

;|).>=3|
s) AY daild
s Jadl a8 il Cia g

368/0011 dowuio dil> .1
368/0057 Lol plaws Gdsie .V
368/9837 sagdall gly3 b
368/0012 vaiall gbge sclue &
368/0010 el ubge Lis .0
5111-148 M8 Ll 5locecs .
5113-148 M8 dasle dgolo .V
368/0047 dieml ledio A
368/0301 didl eldne s .4

20363 O PTFE () sa=ll dal> .1 -
368/0201 18>0 .1 1
252/0517 Joxi puude . IV

20361 Viton O (r) sa=ll dal> .11
368/0009 PTFE j9>0 %8s .1€
5005-104 Fortyt O dil>.10
Yy f O &0

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masaderjcom & www.masader-jcom 5


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®
el 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

;|).>=3|
s) AY) daild
sl a8 yainll Ciuag
324/2020 Jadll plows.17
5104-971 sclwall @ledl d>g) L1V
290/6104 aclucall dsgledl d>glll 1A
826/1252B JSLall geans .19
5112-006 M12 (¢) sa=ll dolS dgols .-
5113-010 M12 (€) sa=)l (>950 gblS .11
5113-015 000 shis dysle Pgolus .FF
821/0033 &8sl guol .pr
821/0025 B9sall dlis .Fe
821/0034 olseal s .Fo
821/0010 19> .F1
324/1001 diemill eledio PV
20370 (P) sl diwgas Cusd3dsyg KA
5111-030 M6 (r) sa=ll £ .79
5111-017 M6 () sa2)l S slowuo .-
Yy f O &0

9. KSAP.0.Box 37010 Riyadh 17242 . 8001240474 X info@masader-jcom @& www.masader-i.com 6


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

s Jad) a8

@ KSA.P.0.Box 37010 Riyadh 17242

®
el 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

;|).>=3|
e) Al daild
raindl (g

330/5010 PXA| P\ PSRV P o

20362 PTFE 390)l ddlgs 4359w 1Y
368/0035 PTFE Glaw dijgen.tt’
368/0036 gl yooue 1€
368/0002 PTFE dewsyll alawall 354> .Fo
368/5129 Tl dxils
5111-023 M12 (g) sas)l Gaolaw €59 .1V
10303ps1 o el EetenlbR BT
368/0400 Géel d>gl 1a
5112-001 M8 (F) sa=)l dlals Jgoles .£ -
5113-003 M8 (F) sa=)l (>950 gblS .£1
5111-085 M8 mhriso iz .EF
Yy f O &0

. 8001240474 3 info@masader-jcom & www.masader-j.com 7


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Olaiiallg Oloasdl (o 3950d
: dosiSHl Limdgo 85Lr3y @8

www.masader-j.com

vy f © 80

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-j.com & www.masader-j.com


http://www.masader-j.com/
https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Masader
Al-Jazeera

Yy f © 8 O

9@ KSA.P.0.Box 37010 Riyadh 17242 . 8001240474 4 info@masader-jcom & www.masader-j.com


https://www.masader-j.com/masader/store
https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s/g/11g_v737tp?entry=ttu

®
il 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

Masader AL-Jazeera

Univalve Bottom Discharge Assembly
1022132

Yy f © 80O

¢ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-jcom & www.masader-j.com


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

®
aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Specification:

Nominal size/body angle 80mm / 45°

Flanged: 8 x 14mm holes equi-

Inlet connection
' spaced on a 178mm PCD

Outlet connection 3" BSP spigot flange with cap
Properties Highlift footvalve with integral
: butterfly valve
Seating area: Superseat (alloy
625)
. Contact parts: 316 stainless steel
Materials

Footvalve main seal: Fortyt
Butterfly valve main seal: PTFE
Cap seal: PTFE

¥y f 0 s0

@ KSA.P.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-j.com & www.masader-j.com ]


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Design Conditions & Range

Design Conditions Range
Weight 12.5Ke Description Part No.
Design Pressure 4 Bar Standard
(MAWP) antara. 804/4000A
specification
Test Pressure 6 Bar :
With all 27
thalloy €276 ¢44/4000AHS
Design o seating area
) -55°C
Temperature min
Superseat; 3"
Design camlock outlet &  804/4020A
200°C
Temperature max cap

NOTE: The Design Conditions and Section View dimensions are for the
specified part number only.

Approvals :

BS EN14433

BS EN14432

Yy f 080

© KSAP.0.Box 37010 Riyadh 17242 . 8001240474 &9 info@masader-jcom & www.masader-j.com 2


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

Drawings :

9@ KSAP.0.Box 37010 Riyadh 17242

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

®

¥y f 080

S a
LA\ =
10 | 8261200 | 3'45°HIGHLIFT FOOTVALVE | 316STST |
9 | 368/8047 | 3'BSPOFFSETQUTLET FLANGE | 316STST | 1
8 | 368/70008 3"BUTTERFLY VALVE 36STST |
7 | 10303PS1 | 3'BSPBLANK CAPWITHCHAIN | 316STST | 1
6 | 5113012 M16 SPRING WASHER 304STST | 4
5 5113011 M16 PLAIN WASHER IN SS 304 STST 4
- 5112003 M16 FULL NUT 304 STST 4
3 5111-198 M16 X 105mm HEX BOLT 304 STST -
2 | 5005490 PTFE / CNAF GASKET PTFE/CNAF | 1
1| 5005-049 PTFE CNAF GASKET PTFE/CNAF | 1
Index| Part Number Description Material | Quantity
Assembly BOM
4 info@masader-jcom & www.masader-j.com 3

. 8001240474


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Parts :

¥y f 080

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-j.com & www.masader-j.com 4


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

Parts :

Item Description

1 Split ring

2 Butterfly valve handle

3 Handle lever

4 Handle location spring

5 Handle location pin
6 M8 cap screw

7 M8 plain washer

8 Stuffing clamp

9 Stuffing clamp bush
10 PTFE O ring (3)

11 Spindle

12 Split bearing

13 Viton O ring (2)
14 PTFE spindle seat
15 Fortyt O ring

@ KSA.P.0.Box 37010 Riyadh 17242

Parts List

Part No.
368/0011
368/0057
368/9837
368/0012
368/0010
5111-148
5113-148
368/0047
368/0301
20363
368/0201
252/0517
20361
368/0009
5005-104

Yy f 080

. 8001240474

b4 info@masader-j.com

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

@ www.masader-j.com §5


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Parts:
Parts List

Item Description Part No.
16 Poppet 324/2020
17 Closure spring 5104-971
18 Spring top plate 290/6104
19 Body assembly 826/1252B
20 M12 full nut (4) 5112-006
21 M12 spring washer (4) 5113-010
22 5mm plain washer 5113-015
23 Lifting finger 821/0033
24 Crank block 821/0025
25 Pivot pin 821/0034
26 Spindle 821/0010
27 Stuffing clamp 324/1001
28 Retaining washer (2) 20370
29 M6 bolt (2) 5111-030
30 M6 cap screw (3) 5111-017

v f O s0O

9@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474

04 info@masader-jcom & www.masader-jcom 6


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

Parts :

®
el 6 pjall jalno 64 pi
Masader Al-Jazeera Trading Co.

Parts List

Item Description Part No.
31 Footvalve handle 330/5010
32 PTFE crankshaft end bush 20362
33 PTFE bottom bush 368/0035
34 Bottom spindle 368/0036
35 PTFE butterfly valve main seal 368/0002
36 Outlet flange 368/5129
37 M12 hex bolt (4) 5111-023
38 3" BSP cap with chain & seal 10303PS1
39 Closure plate 368/0400
40 M8 full nut (2) 5112-001
41 M8 spring washer (2) 5113-003
42 M8 countersunk bolt 5111-085
v f O s0O
© KSAP.0.Box 37010 Riyadh17242 & 8001240474 (X

info@masader-j.com

@ www.masader-j.com 7/


https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Olaiiallg Oloasdl (o 3950d
: dosiSHl Limdgo 85Lr3y @8

www.masader-j.com

vy f © 80

@ KSAP.0.Box 37010 Riyadh 17242 . 8001240474 54 info@masader-j.com & www.masader-j.com


http://www.masader-j.com/
https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

aylaill 6pjall jalno a5 pn

Masader Al-Jazeera Trading Co.

Masader
Al-Jazeera

Yy f © 8 O

9@ KSA.P.0.Box 37010 Riyadh 17242 . 8001240474 4 info@masader-jcom & www.masader-j.com


https://www.masader-j.com/masader/store
https://api.whatsapp.com/send/?phone=%2B966112712100&text&type=phone_number&app_absent=0
mailto:info@masader-j.com
https://www.masader-j.com/masader/store
https://www.google.com/maps/place/%D8%B4%D8%B1%D9%83%D8%A9+%D9%85%D8%B5%D8%A7%D8%AF%D8%B1+%D8%A7%D9%84%D8%AC%D8%B2%D9%8A%D8%B1%D8%A9+%D8%A7%D9%84%D8%AA%D8%AC%D8%A7%D8%B1%D9%8A%D8%A9+%D9%85%D8%B3%D8%A7%D9%87%D9%85%D8%A9+%D9%85%D9%82%D9%81%D9%84%D8%A9%E2%80%AD/@24.531596,46.6999206,19z/data=!4m6!3m5!1s0x3e2f0d7874ca69e9:0xd1e81cf9a0162528!8m2!3d24.5316809!4d46.6999657!16s%2Fg%2F11g_v737tp?entry=ttu

	الشريحة 1
	الشريحة 2
	الشريحة 3
	الشريحة 4
	الشريحة 5
	الشريحة 6
	الشريحة 7
	الشريحة 8
	الشريحة 9
	الشريحة 10
	الشريحة 11
	الشريحة 12
	الشريحة 13
	الشريحة 14
	الشريحة 15
	الشريحة 16
	الشريحة 17
	الشريحة 18
	الشريحة 19
	الشريحة 20

